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6.15. b X, 1000 6705
X, 1.000
e, Y = 158491 — 1.1416.X, — 0.4420X, — 13.4702X,
d&e.
i 1 2. 45 46
e 1120 —9.0797 55380 10.0524
Expected Val.:  —0.8186 —8.1772 ... —5.4314 81772
f. No

o SSR* = 21,355.5, SSE = 4,248.8, X3, = (21,355.5/2) + (4,248.8 /46)? =
1.2516. \*( 11.3449. If X3, < 11.3449 conclude error variance constant,
otherwise error variance not constant. Conclude error variance constant.
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a.

b.

Hy: 0y = riz =33=0. H,: not all 5, =

MSR = 3.(
2.2191.
0.4878

0.2, MSE = 101.2, F*

s{bi} = 2148, s{by} = .4920,

—1.1416 £ 2.1995(.2148)

—.4420
—13.4702

=+ 2.1995(.4920)

=+ 2.1995(7.0997)

0 (L" =1,2.3).

040.2/101.2 = 30.05, F(.90;3,42) =
1t F < 2.2191 conclude H“. utlu‘l\\ ise H,. Conclude H,. P-value

s{bs} = 7.0007, B = 1(.9833; 42) = 2.1995

— 1.6141 < ) < —0.6691
— 1.5242 < 3, < 0.6402
—29.0860 < /33 < 2.1456
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C.

a.

b.

SSR =9,120.46, SSTO = 13.369.3, R = .8260

Vi = 60.0103, s{V,} = 2.6646. £(.95:42) = 1.6820. 69.0103 & 1.6820(2.6646).
645284 < E{Y}} < 73.1922

s{pred} = 10.405, 69.0103 &

1.6820(10.405). 51.5091 < Yj(new) < 86.5115




[image: image4.png]6.22. a. Yes
b. No, vyes, Y/ =log, Y; = By + 31 X;1 + 5. X2 + =), where ¢/ = log, =,
c. Yes
d. No, no
e. No,ves, Y/ =log (V' — 1) =Gy + 5 Xy +2





